SCANSTRUT

INSTALLATION SOLUTIONS FOR MARINE ELECTRONICS

One Piece Mast Platforms
Fitting Instruction

Kit Contents:

1 x Mast platform [depending on
model platform may differ in
appearance from model shown].
4 x Platform Feet

10mm Spanner
Fully Tighten

4 x M6 x 30 Bolt

4 x M6 Nyloc

8 x M6 Nylon Washer
8 x Nut Cover

12 x Rivet

1 x Safety Wire

Scanstrut Ltd. 1 Malt Mill, Totnes, Devon, UK TQ9 5NH  Tel: +44(0)1803 863800 Fax: +44(0)1803 862223
e-mail: mail@scanstrut.com website: www.scanstrut.com

SCANSTRUT

INSTALLATION SOLUTIONS F

OR MARINE ELECTRONICS

One Piece Mast Platforms
Fitting Instruction

Kit Contents:

1 x Mast platform [depending on
model platform may differ in
appearance from model shown].
4 x Platform Feet

10mm Spanner
Fully Tighten

4 x M6 x 30 Bolt

4 x M6 Nyloc

8 x M6 Nylon Washer
8 x Nut Cover

12 x Rivet

1 x Safety Wire

Scanstrut Ltd. 1 Malt Mill, Totnes, Devon, UK TQ9 5NH  Tel: +44(0)1803 863800 Fax: +44(0)1803 862223
e-mail: mail@scanstrut.com website: www.scanstrut.com

www.busse-yachtshop.de | info@busse-yachtshop.de



BELF 0N 0D M
DOZS L BTE0S TEL
W5 NG90

ZFIIGECS BT Bt X
11995925 C0d F+ AL

; asvIERMT
FHIFSaMYH AT TS OIS S0 FIHT AW
. f._.n..._..__ HLMOWES Y0
A0 MOLIDD 22 “AEYA SEEOHT N
AN S LAY LT IEHF AT H
. I_ ™
.__.M- o L_.m.
T ) 3
- __rw.__ = .....1“._....
. o
[ I & .r_n..\..-..u1|1\l......
| 4l R
_ ] ¥ T
. & \ . \Wu
{ £ — —. s
"m i e
4— | [ i) :
— —_— ...m.“-...,. o
T 1..|1|.-...||
— \E) = _
= o gl

Mfrﬂd/// ANDOYY .+¢ - 0 H3ONHH LY c
S .
@ 1
SNOILONHLISNI| ONILLIH
INHOLHLV1d SNILLNNOW HYav4d

Jmﬁf - @) n“u
%

-

L

FOL P TOEEDS el
DS 169 E0S 130

Epireads IC200 H Ywd
L19EESES (E20) Het TEL

. WETI IS ESED anv TSN
FIHHSTVH M I YIHSYN 15 S0 i -5 Ay
f._..L.S HLACMS _H0d

"HH¥d FANHOHINY

B S Sl b= HE L P

N
. 5

.__.-__.....mu_ o -..-“u".“

.e...rﬂff..r- ,_H.ﬂ....ﬂ... .m

- - o

e 2

T i

== iyt Y <

| e o

©

i

Ir._ e —— |||||.__.__ i %

= — £y %

el

®

s S

B (E) G £

- = B

_ - o

4 . ©

f — - \L.m_\—ll B nwl

]_ [ 1 _ 2

[} L} \L S

P e £

. ...V.\.«, wug +o nNa,

5 (0]

n

0

S

o

ey
f;ﬂ/f« JWOOYH 72 - ¢ mwmd_nﬁrld_w
= auuewiey
ﬁ-_..

/]
\

e OlL/eD
; @ //
%@uﬁhﬁ. ...,mv .___uu..__‘
: :
_

(1) :

SNOILINYLSNI ONILLLIH
NHOH1VY1d DNIINNOW dvyavd



RADAR MOUNTING PLATFORM
FITTING INSTRUCTIONS

e
PATHFINDER D4 - 24" RADOME

93/16'g

24.8mm

Q)@ -
®

p—

;Eﬁf:ﬁ i — . \ —
g \— ==
”“& —
/ S
0 ul

ARAYMARINE LTD, RAYMARINE Inc.
ANCHORAGE PARK, 22, COTTON ROAD,
PORTSMOUTH, UNIT H,

HAMPSHIRE PO3 5TD NASHUA, NEW HAMPSHIRE,
ENGLAND 030634219 US.A.

TEL +44 (023) 92693611 TEL 603.881.5200

FAX +44 (023) 92694642 FAX 603.864.4756

www.busse-yachtshop.de | info@busse-yachtshop.de






